Supplementary Table S1 Summary of the differences between the German credit data and
the South German credit data.

variable level new level.old good  bad
status O<=_. < 200 DM .. »=200 DM / salary for at least | vear 007 005
status no checking account . = 100 DM 020 045
status . < 0DM 0 <=..< 200 DM 023 035
status ... =200 DM / salary for at least 1 year no checking account 050 0.15
credit_history delay in paying off in the past no credits taken/all credits paid back duly 0.02 0.08
credit_history critical account/other credits elsewhere all credits at this bank paid back duly 003 0.09
credit_history existing credits paid back duly till now delay in paying off in the past 0.00  0.09
credit_history all credits at this bank paid back duly critical account/other credits existing 035 017
credit_history no credits taken/all credits paid back duly  existing credits paid back duly till now 052 056
savings 500 <=... < 1000 DM .. == 1000 DM 0.06 002
savings 100 <=... < 500 DM 500 <=... < 1000 DM 0.07 004
savings .. < 100 DM 100 ==... < 500 DM 0.10  0.11
savings . == 1000 DM unknown/no savings account 022 011
savings unknown/no savings account .. < 100 DM 055 072
personal_status_sex  male : divorced/separated male : divorced/separated 0.04 007
personal_status_sex  female : single male : married/widowed 0.10  0.08
personal_status_sex  female : non-single or male : single female : divorced/separated/married 029 036
personal_status_sex  male : married/widowed male : single 057 049
property real estate unknown/no property 012 022
property car or other building society savings agreement/life insurance 023 024
property unknown / no property real estate 032 020
property building soc. savings agr./life insurance car or other 033 034
housing own for free 0.00 015
housing for free rent 0.16 023
housing rent own 075 062
foreign_worker yes no 005 001
foreign_worker no yes 095 099
installment_rate =»=35 1 0.15 0.1
installment_rate 0<=..<25 3 0.16  0.15
installment_rate 25 <= <35 2 024 021
installment_rate < 20 4 045 0353
present_residence < lyr 1 013 012
present_residence 4= < Tyrs 3 015 0.14
present_residence 1<=..<4yrs 2 030 032
present_residence =T yrs 4 041 041
number_credits =6 4 0.01 001
number_credits 4-5 3 0.03  0.02
number_credits 2-3 2 0.34 031
number_credits 1 1 0.62 067
people_liable 3 or more 2 016 015
people_liable Oto2 1 0.84 085



